Kt E

B KEHEEE A ST
(ZO—mEFHZNAH)
I B R
—O—puE —O—puE —QO—puE —Q—PuiE
IH NH A JANE]
EEEE 202 345 177 138
LS EEE 44 43 38 31
ERITEE 13 14 12 11
HREE E 124 115 140 102
SEE WHET e 3 4 3 2
TAEY; 17 6 11 4
YR EHE EER
—O—E —ZO—mE —O—mE —O—PusE
A NH =) JANE]
W 18 5 5 =
RA=ZEEH 23 6 13 14
EElid=! 0
FE B 2 2




2 fi: B
Y BRI SR AR e B T B Y o BEER A AL
(ZO—mEARHZ/H)
—O—E —O—ME —O—E —O—VusE
aH ~H +H AH

NN 2,499 854 883 907
HEEMES 3,145 2,491 2,100 2,961
KRR S 2,371 2773 1,652 1,517
YDHERMNEE 1,302 1,494 1,304 1,399
BTSN\ 1A 5,976 3,583 3,416 2,551
FELLIBP R SR 1] 6,988 4,673 4,469 3,431
HERE UEIAZE SR AT 2,041 1,083 1,764 1,587
s A = 4,557 2421 2,485 1,671
i HH EE Bl A 1 1,372 1,112 877 433
KB EAE 705 504 277 348
SH_F AR A\ 4,353 3,095 2,688 2711
VOUHAR A SR 490 481 311 383
sERUESE 341 326 490 820
Hr A e = S\ A 509 407 425 486
TCEHTE R 5244 510 588 518 165
RIFHREE 22 2 1,119 597 618 506
e IT=y 725 818 373 565
TCEHZR G 5244 195 59 166 188
TUEHE 2 5,054 2445 2,989 2,282
TCBHREIN B 324 285 286 297
TCOHEAEEEE 52 23 62 23
VOUE A EEE S 117 118 128 122
TCBHE T &R K SR ] 1,979 1,334 1496 1,358
TCEHRE LT B E = 881 718 895 876
gl 47,605 32,282 30,672 27,587




